Look for worked-out

. ' L . examples at the Prentice
Simplify &s shown. Then use Theorem 7-6 to simplify another way. Hall Web site.

1. V(6a) 2. V() 3. (A 3/16b2)2 4. (\fyﬁ)z ) www.phschool.com
5. V(@8abyY 6 V(' 7. (Vidd) s (Vg

Write without rational exponents.

A

9. xi 10. y* 1L (8% 12 (16} 13 (%P}
14. (2% 15. o . 16. b 17. 163 18, 42
19. (&F% 20, mf 2L y2 - 22, 3% 23, (mn®)i

Write with rational exponents.

24 V20 25. V19 26. V17

28. Ved 29. Vxy 30. Viy'z 3. VP
2. (Vamn) 3. (Vi) s (VB 35 (\aas)
6. (Viexy) 31 (Vi) 38 (Vo) 39, (a%)

Write with p'oéitive exponents.

40, x73 41,y 42, (2r9) 43. (5xy)-4
2 3 . )
1Y3 1y 1. A
4. (&) a5. (3) 46. 15 47. 4
Use the properties of exponents to simplify.
. ] 9
48. 5t . st 49. 115 113 50. L 51. 2%
) 75 . 911
3 . 3
52, 83 53, 3% 54. (1085 55. (547
8.3¢ 3.94 ,
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Writf% an exponential expression. Then simplify, if possible. Write radical
notation for the answer, if appropriate. .

6 ¢ u
56. Va' 57_ \/}? 58, /—-Syﬁ 50, \/xTys
5 6 5
60. V32c%a® 61 VigrBE gy, 63. )

64 kP

Write as a single radical expression.

E' 3 3
64. VxVx =2 65. V3x Vy +4 g6 Yoty 67. ¥ (x + y)?
7 V{a + b) \/(x+y)3
-2 3 1 1 1 -
68, a3 - bt 69, x5 - yi . 8 70, SZ -8

53 ey

8
x1s

ta
[RIEN

Y
"y

. TL

o
Wif—
b

X



A | |
Solve. S

L. Var~3=1 . 2.Vxrh3=6" 3.Vy+1-5=8
4 Vi—2-7=-4, 5 Vrits5=2 6. Vi-2=3
7. Vy—3=2 8. Vr+3=3 9. Vay+i1=9
10.V2y +1=13 1L 3Vz=6 2.8y =3

13. V=3 14 Vy =~ 15. Vy +3 ~ 20 =0
16 Vi+4—-11=0 17 Vi+2=—4 18. Vy -3 =2
19, 8'=-\% : _ze.s_=% | ‘

2L Vex+9+8=5 22 V3y + 6+2=3

23. V3y+1=V2y+6 24, V5x —3=V2x +3
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Look for workad-out

examples at the Prentice

Hall Web site.
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LESSON 7-5 _ |
' Tryﬂﬁ—wf‘?%q (VEI=7 b (V6y) =6l Vey
Vﬁ?qyw id'% e V16 or2

A A_ i (7ahad L gk
i 55,

ffabi0t o 25720 4 ;
2 7 s-\16/ e 't\ T T
l'_(xzyjj}'mly; () '1/“\“% P-Sé q. 9%
, R
ryve—sx 7V T Xy vm
B, 4 .
A MM\ . -
Exercises 1.6aV/6a 3. 4b\/’41; 5.542°6V2b 7.2\ T8cd?
5 .
VX 1.2 BVFE 15.VF 1.8 1957 E
2.VY BVwE 2519 7.6 29 b 31, Oy
33. (7xy) 35 (2 37 (12ab)for 2(3ab)} 30, (32978

IS

1t

7

M. 4 4.::.(5—)(}1’ﬁ 45.80 47.:4 49.11% 51.9%

4
| 53.39% s5.sH 5700y g 61, 2x%* 63."3—5’-

65.V/ 3xy* + 24xy + a8x 67, k+nT 69 ViR
VY BVEZE 1582 v 77.Mazp

(a - by’
79. 0+ 6)5 81. Answers may vary. Should include the idea
thatan -5 = 1 83,450m - '
Mixed Review 85.No 87, 4 4 3x?

Exercises 1.2 3.168 5.3 7.19 9.8 114 13 _y

15337 17.Nosolution 19.g 21.-6 23.5 25 -1
27.3 299 31.7 338 354 3742 39, No solution.



